MCQI %%

ISO-VDMA IZZ#PROFILESa ERET (FEEEER4ERY) mindman

Rk

i
PR e A KUK  BEIS SR A o

W S R
SUBSRL R PR S A b BT A (LSRRI o EL A
Tl o

B ISOFHERIR -
IR P HEHE ISO-VDMABLRS B fF » AR R > K % 3%
% ] AR o

W AU HERHR -
L2 P 44 8 A 2 A 5052 W T 4 D P 5
BB 5 R A 2 o o

W FCEIEPT ~ NPT JRATETEL -

N At .
HRHE TR - Bk
ETANSEKS 712 (mm) 5% Mcal
¢ 32, 40 50,75,100,125,150,175,200,250,300,350,400,450,500 RALALL (mm) 32,40,50,63,80,100
¢ 50, 63 1 600 i FH i A 225,
¢80, 100 1" 600,700 57 FH B o [ 0.5~9.9 kgflcm?
© JERHEATRR IR I A B > FHIAEHEAE i R )1 15 kgf/cm2
JE —5C~+60C (A HHE)
= ‘ . TR IERARE RCI
B IR

MCQI—-11-50—-100(M) — FAC

g AT s
LB
B e cA
CDB
(+CBHsh)
—— FAC
= y -
18 A1RimF B o
) - o
fosk 5k i .
11 [ | mmss B
2| 1| =TT | wwnmmt o
2| 7| ST | ewmmiasn




MCQI A8 632~ 6100

ISO-VDMA IZZ#PROFILESa ERET (FEEEER4ERY) mindman

ZHTHE
1 1 J ZB+17f2 A

B+{7f2 Cc

R B2

oH

)

|

I

|

I

|

I

|

I

|

I

\

I

\

|

I

I

|

I

I

S
6G
oH

Eam
m

2-DD

ZN+2 X 712
A ZM+2 X {2 A
C+7f2 B+{7f2 C

(27 )

ZQ+2 X fTA2+ ] 1T L
AA+T]FRITIE ZP+2 X {712 A
AB+{T12 B+{7i2 9
AR AD R
. ’ T
.

¢ AF

— © \

AE ‘ AC+ATHTi ‘
AS B2

2 | A |AA|AB|AC|AD| AE |AF|AR(AS(B (B1[B2|C|DD| E |[G|H|I|[J|[K|[L|O
32 | 22|19 23| 12| 7| M10x1.25( 20| 6|17 | 94| 10| 17 | 26 [G1/8)M10x1.25( 12 (30| 16| 4 | 26 | 13| 325
40 | 24| 20| 27| 12| 7| M12x1.25| 30| 7| 19|105| 13| 19| 30 |G 1/4/M12x1.25( 16 [ 35| 20| 4 [ 30| 15|38
50 | 32]|20|32| 15| 10| M16x1.5 | 40| 8| 24 (106| 16| 24 | 37 [G1/4/M16x1.5 [ 20 40| 25| 4 [ 30| 15| 46.5
63 [32]|20(32| 15| 10| M16X1.5 | 40| 8| 24 [121| 16| 24 | 37 |G3/8|M16x1.5 [ 20| 45| 25| 4 | 32| 16 | 56.5
80 [40(32|41]|20| 14| M22x1.5 | 50| 13| 32 |128| 21| 30 | 46 |G3/8|M20x1.5 | 25| 45| 32| 4 | 38| 19|72
100 [ 40| 32|44 [ 20| 14| M22x1.5 | 50| 13| 32|138] 21| 30| 51 |G 1/2lM20x1.5 | 25| 55| 35| 4 [ 40| 21|89
S JR| s |u|Xx|z|zB|zm|2N|zP|ZQ
32 5 |M6x1.0 | 5 | 47 |146|120| 146| 190| 143| 184
40 6 |M6x1.0 | 4 | 53 |163|135|165|213| 162| 206
50 8 |M8x1.25| 4 | 65 |179|143|180| 244| 175| 227
63 8 [M8x1.25( 7 | 75 |194|158| 195| 259| 190| 242
80 | 10 [M10x1.5[ 7 | 95 |218|174|220| 300| 215|287
100 | 10 [M10x 1.5 7 [ 115 | 233]|189]| 240| 320| 233| 305




MCQI BHEH B3 /2238 ¢ 32~ ¢ 100 M

ISO-VDMA IZZ#PROFILESa ERET (FEEEER4ERY) mindman

R B )

AN SRR T

B 2R
‘LB

ZT+{i12 LA
| |
,,,,, L [
,,,,,, S A N A NAN -
| :
E
5
LM LL LL LM‘
‘ LY+f712 ‘
4-¢LB
A E |LB|LH|LL|[LM|LR|LS|LT|LX|LY|zZT

32 22 |M10x1.25| 7 32 24 8 32 47
40 24 [M12x1.25| 9 36 28 10 36 53
50 32 |M16x1.5 9 45 32 10 45 65
63 32 |M16x1.5 9 50 32 10 50 75
80 40 |M20x1.5 | 12 63 41 13 63 95
100 40 |M20x1.5 | 14 71 41 13 75 | 115

5565 | 142 | 144
62.2 | 161 | 163
775 | 170 | 175
87.5 | 185 | 190
110.5 | 210 | 215
128.5 | 220 | 230

oojajafafo




MCQI Z3mflk ¢ 32~ ¢ 100

ISO-VDMA IZZ#PROFILESa ERET (FEEEER4ERY) mindman

(FAC)

ZF+{7f2 FU
FF

F FD A

N | S — [ I 1 X
[THENT
OO T O Q
Y | Y
4-¢FB
ol A E F |FB|FD | FF [ FR | FU | FX | ZF
32 22 |M10x1.25[ 10 7 16 64 32 79 50 [ 108
40 24 |M12x1.25[ 10 9 20 72 | 36 90 52 | 120
50 32 |M16x1.5 12 9 25 90 45 | 110 65 | 123
63 32 |M16x15 | 12 9 25 | 100 | 50 | 125 76 | 138
80 40 [M20x1.5 16 12 30 | 126 63 | 154 94 | 148
100 40 [M20X1.5 16 14 35 | 150 75 | 180 | 112 | 158
ZF+HTHE FU
c A FE 4-¢FB

Sl Al C E F |FB| FF|FR | FU | FX | ZF
32 22 26 |M10x1.25[ 10 7 64 32 79 50 | 130
40 24 30 [M12x1.25| 10 9 72 36 90 52 | 145
50 32 37 [M16x1.5 12 9 90 45 | 110 65 | 155
63 32 37 [M16X1.5 12 9 100 50 | 125 76 | 170
80 40 46 [M20x1.5 16 12 126 63 | 154 94 | 190
100 40 51 |M20x1.5 | 16 14 | 150 | 75 [ 180 [ 112 [ 205




MCQI Z3mflk ¢ 32~ ¢ 100

ISO-VDMA IZZ#PROFILESa ERET (FEEEER4ERY) mindman

(CA)

|
( T )
D [T @ ;
NS ‘ &) RCR o /’
h ig
B L | I | § S ] SO B R o -
% ai
N: $CD
©@ || © N
&J | &J)
! T
CA -
cL
ZT+{7H2 A
oo
O X
o A|CA|cD|CL|CR| E o T | x|zr
32 | 22 |267%| 10" | 22 | 105 [M10x1.25| 325| 10 | 47 | 142
40 | 24 |[282%%| 12| 25 | 13 |M12x1.25| 38 10 53 | 160
50 | 32 32253 12| 25 | 13 |M16x1.5 | 46.5| 12 65 | 170
63 | 32 |402%3] 16™ | 32 | 17 [M16x1.5 | 56.5| 12 75 | 190
80 | 40 |50754| 16™ | 36 | 17 |M20x1.5 | 72 16 95 | 210
100 | 40 |60703| 20™ | 41 | 21 |M20x1.5 | 89 16 | 115 | 230
( 1 D)
rf
D @ ) . ;
& & cr q ,f
| i
) | S { B R R _ -
¢$J—Ays #CD \
A\ ‘ @ i’
= | N :
! T
cB ————
cL
oo 2T+ A
CE
X
. A|cB|cD|[CE|CL|CR| E o T | X |zr

32 | 22 |2679%] 10" | 45 | 22 | 10.5 [M10x1.25| 325 | 10 47 | 142
40 | 24 [28%53[ 12" | 52 | 25 | 13 |M12x1.25| 38 10 53 | 160
50 | 32 [32:9%| 12| 60 | 27 | 13 |M16x1.5 | 465 | 12 65 | 170
63 | 32 |40:33] 16™ | 70 | 32 | 17 |M16x15 | 565 | 12 75 | 190
80 | 40 |50153| 16™ | 90 | 36 | 17 |M20x15 | 72 12 | 95 | 210
100 | 40 |60%53] 20™ | 110 | 41 | 21 |M20x15 | 89 | 16 | 115 | 230




MCQI Z3mflk ¢ 32~ ¢ 100

ISO-VDMA IZZ#PROFILESa ERET (FEEEER4ERY) mindman

€DB) (mncs-+sm)

CBRt f
X A
- DA _
| \H
‘
| :
-
L X
[ | NN [ R N - |
o |
| @ Il ©) |
il s OB
46 DH — "\ BC
DF DD DF DG DE ‘ DG
‘ DB ‘ DC
2‘2 A DA | DB |DC | DD | DE | DF | DG | DH DI DL | DS | DT | DX | DY E X ZT
32 | 22| 26 | 50 | 30 | 3 | 18 6 6 66| 10 | 15| 32 8 | 475| 21 [M10x1.25| 47 | 142
40 | 24 | 28 | 53 | 34 | 41 | 22 6 6 66| 12 | 15| 36 | 10 | 525| 24 |M12x1.25 53 | 160
50 | 32 | 32 | 65 | 45 | 50 | 30 75| 75| 9 12 | 15| 45 | 12 | 655| 33 |[M16x15 | 65 | 170
63 | 32 | 40 | 67 | 50 | 52 | 35 75| 75| 9 16 | 15| 50 | 12 | 755| 37 |M16x1.5 | 75 | 190
80 | 40 | 50 | 8 | 60 | 66 | 40 [ 10 |10 | M 16 | 25| 63 | 14 | 965| 47 |[M20x15 | 95 | 210
100 | 40 | 60 | 96 | 70 | 76 | 50 | 10 | 10 | 11 20 | 25 | 71 | 15 |1135| 55 |M20x15 | 115 | 230

TA Min (TA%)

TF+1/2 17f2 (TCHY)

TB+{7f2 Max (TB#!)

ZB+{71% A
1R5% A B L i i 2L
N A E TA TB | zB | 7B | zB TD | TF | TK | TL | TT | TU | TX

32 22 |M10Xx1.25| 73 73 120 | 103 150 | 12% | 73 22 12 50 74 58
40 24 [M12x1.25| 77 88 | 135 | 118 165 | 16% | 82.5| 28 16 63 95 70
50 32 [M16x1.5 | 86 94 143 | 124 173 | 16% | 90 32 16 75 | 107 85
63 32 [M16x1.5 | 89.5 (1055 158 |135.5| 188 | 20 | 97.5| 35 20 90 | 130 | 100
80 40 [M20x1.5 | 107 | 113 174 | 153 214 | 20 |110 40 20 | 110 | 150 | 120
100 40 [M20x1.5 | 116.5] 123.5| 189 |163.5| 229 | 25 [120 45 25 | 132 | 182 | 145




	規格
	外觀尺寸
	感應開關安裝
	安裝配件
	安裝配件
	安裝配件

